o I

=



S|/ AHRE - DE3FH)
chel =)
2. SR (S) - MISRAKY - B Ofl &boH JEH HnsSZ

26,656,798 23,242,798 3,414,000
= 420,000 420,000 0
[ 400,000 400,000 0
< 25,836,798 22,422,798 3,414,000
S|/ AL 26,569,400 23,155,400 3,414,000
= 420,000 420,000 0
= 400,000 400,000 0
< 25,749,400 22,335,400 3,414,000
8,727,000 5,313,000 3,414,000
= 400,000 400,000 0
& 8,327,000 4,913,000 3,414,000
gAY (zEday) |4 XNJ(20EEFXZ) 2,214,000 1,000,000 1,214,000
308 AHXIEHISOIH 2,214,000 1,000,000 1,214,000
10 1 2SS0 EE & HAEAIZ I 2,214,000 1,000,000 1,214,000
OZ Mg (TP ue) |4 X 2,214,000 1,000,000 1,214,000
LOIXS A& FE(RD) (AT XY) 2,200,000 0 2,200,000
308 AXIEHHISOIH 2,200,000 0 2,200,000
10 1 2SS0t etE & HAEAIZ I 2,200,000 0 2,200,000

OXEHLZHES PHUSHAIX AMEEHI}
gl 7= 900,000 900,000
OXHoHLEHE & II0IZ JtS4H| HE 1,300,000 1,300,000
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2A: Olcisseardst
M Dlfgdssdd |
&2l Olis=sgad =4 X

2 (&2 AR
2A -3 A2A(ZH) - MIS2AE - BY Aol J| & oH HIw=2
Dichs=SEAIA Y 84,150,690 82,071,690 2,079,000
= 21,657,000 21,657,000 0
g 378,900 378,900 0
o= 62,114,790 60,035,790 2,079,000
DIHE A S A SH(AMY - SAD|/ AN 84,097,490 82,018,490 2,079,000
= 21,657,000 21,657,000 0
rag 378,900 378,900 0
== 62,061,590 59,982,590 2,079,000
dissgEhtg =4 XA 6,618,490 6,599,490 19,000
KISSHAIS A (BAZAE KR (2OHHEXIH) 570,000 551,000 19,000
308 XXISHMSOIN 570,000 551,000 19,000
10 S| 2SHHSEAXAE ALY 570,000 551,000 19,000
O=2IIE0E=SsHA N8 & =4 570,000 551,000 19,000
I g4t |4 5,965,700 5,455,700 510,000
AHEHEANMH(HIXER}) B NF(2IEEEXHY) 400,000 540,000 140,000
308 KX SHHMSOIA 400,000 540,000 140,000
10 S| 2SH TistE A X EAIZHI 400,000 540,000 140,000
OXSLEANY S4 XS (AHEEFAAL) 400,000 540,000 140,000
e M8l NSRS JI215s HAE HIE 650,000 0 650,000
PE(ZIEENR)
403 AXIHHSAHE0| & 650,000 0 650,000
02 S| ASOICHSH A2 X AEAIS I 650,000 0 650,000
Olgs M3l ANSIES JI=11Es HAE
HIE 2= 650,000 0 650,000
ICTAMY &4 K& 2,516,500 1,616,500 900,000
ra 378,900 378,900 0
== 2,137,600 1,237,600 900,000
JIHAS ICT-SW 88 X (Z2IHREXH) 400,000 0 400,000
308 XIXISHHSOIA 400,000 0 400,000
10 S| 2SHHSHEAHAE ALY 400,000 0 400,000
OJIAHAE ICTSW 88 X 400,000 0 400,000
X< VRAR 1=l RE(2IIEEXH) 500,000 0 500,000
308 AXIHMSOIA™ 500,000 0 500,000
10 S| 2SHUHSHE AN AEAIZLI 500,000 0 500,000
OXNSY VRAR 012} 2= 500,000 0 500,000
ZRAMY B4 XA 2,567,600 1,917,600 650,000
= 315,000 315,000 0
== 2,252,600 1,602,600 650,000
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2M: SRR
M 2UHQ
PSS

ool SNz EERE)
S - FE - B2I(3) - HAIY - BaS 04l st p[E<El HlRE2

SXR XDt 7,457,417 10,948,068 13,490,651

= 2,488,325 5,189,000 12,700,675

= 4,969,092 5,759,068 789,976

ZLHO SRR (A - B4|/PAVETRX) 7,383,657 10,872,308 13,488,651

7 2,488,325 5,189,000 12,700,675

= 4,895,332 5,683,308 787,976

SXEMED 253,300 265,300 12,000

SXNRIX22 2EXHA 6,000 18,000 12,000

301 YptB A2 6,000 18,000 12,000

TPIEENE 6,000 18,000 12,000

OSRRANST TS X8 6,000 18,000 A12,000

RAILXIL 6,327,320 9,680,971 13,353,651

7 2,488,325 5,189,000 12,700,675

= 3,838,995 4,491,971 652,976

NEESESS 3,167,349 6,521,000 13,353,651

7 2,488,325 5,189,000 £2,700,675

< 679,024 1,332,000 652,976

403 XIS KHZ0I & 3,167,349 6,521,000 13,353,651

7 2,488,325 5,189,000 12,700,675

< 679,024 1,332,000 652,976

01 KRS EE 3,167,349 6,521,000 13,353,651

OXAENSTEE 3,167,349 6,521,000 13,353,651

= 2,488,325 5,189,000 12,700,675

= 679,004 1,332,000 652,976

22| R 803,037 926,037 123,000

2Hol 1Y EXNRA S 85,000 200,000 115,000

308 KHXISHHISOIR 85,000 200,000 115,000

10 202 SUITHEHE A= RIS Ar 85,000 200,000 A 115,000

Ol Il EXNRA 5 85,000 200,000 115,000

ETEETESOMES 7,000 15,000 18,000

301 YerEaz 7,000 15,000 8,000

GRS 7,000 15,000 8,000

O=US SYEK £ 7,000 15,000 18,000

#FHSALHI (SRR D) (OIEHIIEH 73,760 75,760 A2,000

PR 73,760 75,760 £2,000

J1=2| 73,760 75,760 £2,000

201 Yer2 | 58,057 60,057 £2,000

02 2B 1,057 3,057 A2,000

02222 < A 1,057 3,057 £2,000
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A HFINLX
M AL (E
&l AHE |4

— U

2 (G2 &)
2A -3 A2A(ZH) - MIRAE - BES 04| AboH J| & Hwns2t
Ry TNt 15,522,689 15,416,985 105,704
=2 2,839,838 2,693,330 146,508
= 1,075,000 1,075,000 0
b 4,856,000 4,856,000 0
= 6,751,851 6,792,655 240,804
HIRIHLH (S| &/ IS | =Bt 2,694,317 2,710,400 216,083
AN 24X 2,694,317 2,710,400 216,083
X2 =AY Al XI(2IHRFRIH) 317,917 334,000 216,083
308 XIXISHHISOIE 317,917 334,000 216,083
10 2| ZSOICHEHZ A 2 ELAISH] 317,917 334,000 116,083
OXoeg =4I| M XY 317,917 334,000 216,083
HEWUK B2 K (L - SAIY/OHHKILRANL) 8,395,959 8,249,451 146,508
= 2,704,833 2,558,330 146,508
7| 4,856,000 4,856,000 0
= 835, 121 835, 121 0
AITHAMIUA X e & 22 8,395,959 8,249,451 146,508
= 2,704,833 2,558,330 146,508
b 4,856,000 4,856,000 0
[ 835, 121 835, 121 0
8.26-9.1 SRIHE2XA 146,508 0 146,508
=2 146,508 0 146,508
403 REXISHHI S XH=20| A 146,508 0 146,508
=2 146,508 0 146,508
01 AIXISHRIXI28 = 146,508 0 146,508
(08.26-9.1 STGHE2 XA 146,508 0 146,508
=2 146,508 0 146,508
QIS SIALY R4 & 3,718,879 3,743,600 24,721
DEsH A - SAD|Y/AAXE - D3}
=2 135,000 135,000 0
= 1,075,000 1,075,000 0
= 2,508,879 2,533,600 NP4, 721
oISt SHANY A X 3,718,879 3,743,600 N4, 721
=2 135,000 135,000 0
= 1,075,000 1,075,000 0
[= 2,508,879 2,533,600 N4, 721
SUA OME SO XA DIAHEZY 2 2 AAY 175,279 200,000 N4, 721
EISATAI 24
207 1IN 175,279 200,000 NP4, 721
01 g1 175,279 200,000 N4, 721
OSLRA oMY SSCHIXA OIAEHZH 8
2 AIAMSY EISAEAL Y 175,279 200,000 A24,721
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